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1. B High degree of inequality of incomes 

2. A Equality 

3. A Size  
 

4. C Both (a) and (b) 

5. B Net Indirect Taxes 

6. B GDP 

7. D All of the above 

8. A Has been abolished 

9. B 1966 

10. B Australia 

11. B Relative Poverty 

12. B Structural 

13. B 65.4 Thousands 

14. C 15-35 years 

15. B Fiscal Measures 

16. D Wholesale price index 

17. C Both (a) and (b) 

18. A Balance of payments on capital and 

19. A High 

20. D All of the above 

21. B 4.0% 

22. C Privatization 

23. D All of the above 

24. C Both (a) and (b) 

25. A Static 

26. D All of the above 

27. A Formulating the Government Budget 

28. C RBI 

29. C Wheat Revolution 

30. D Depreciation 

31. A Current Prices 

32. A Income Approach 

33. A Direct and Progressive 

34. A Luxury, Necessities 

35. D Decrease in Per Capita Income 

36. A Is rising in relative and absolute terms 

37. B Imperfect information about availability of manpower and the opportunities 

38. D All of the above 

39. A Coal 

40. A Bank Rate is reduced 

41. C Increase in Statutory Reserve Requirements 

42. C Both (a) and (b) 

43. D All of the above 

44. C Both (a) and (b) 

45. A Conservative 

46. C It abolished licensing  for all projects expect 18 industries of strategic and security 
importance 
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47. C Privatization may result in lopsided development of industries in the country 

48. A Export Promotion Capital Goods. 

49. B Coins and Currency Notes + Demand Deposits with Commercial Banks + Post Office 
Saving Deposits 

50. A M1 

51. A Dealings in Government Securities and Internet on Advances and Loans given to 

Government and other Banks / Financial Institutions 

52. C 90 days 

53. A Bank Rate 

54. B Decrease 

55. D All of these 

56. C Rice production 

57. D All of the above 

58. A Final 

59. C Social purpose 

60. D 30% 

61. A 943 (2011) 

62. D All of the above 

63. C Cut the government spending 

64. B Temporary 

65. A Village public telephone 

66. A Increased money expenditure 

67. D Reduction in Inflation 

68. A Balanced 

69. B Budget Deficit 

70. A 90 

71. A 6 

72. A In order to meet domestic demand in case of shortage of Foodgrains 

73. B totally removed 

74. D All of above 

75. A M1 

76. C Both CRR & SLR 

77. C Change in Cash Reserve Ratio 

78. C Both (a) and (b) 

79. D All of the above 

80. D All of the above 

81. A Capital 

82. B Sale of second hand machines 

83. A 3380 

84. D Nil 

85. A Excise duty 

86. A High 

87. A Absolute poverty 

88. A J & K 

89. D Industry. 

90. B Is in the form of a low rate of growth combined with the general prices level increase 

91. A Inflation with Recession 

92. A Balance of payment 

93. A Capital and Technological 

94. D All of the above 

95. B 2005 

96. A It refers to the disposal of public Sector’s Equity in the market 
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97. A Contributed quota 

98. D None of the above. 

99. A RBI 

100. C SLR 

 


